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A sentence/a part of the sentence is underlined. Five 

alternatives are given to the underlined part which will 

improve the meaning of the sentence. Choose the correct 

alternative. In case no improvement is needed, click the 

option corresponding to "No improvement.”



I often have to attend yoga classes.

1. Have to often

2. Had often

3. Have not often

4. Had often not

5. No improvement



Many time was allotted to the discussion.

1. Much times

2. Many times

3. Much time

4. Most time

5. No improvement



This guy at work persists to ask me out even though I 

have told him very clearly that I am not interested in 

dating him.

1. Persistently to ask me

2. Persists for ask me

3. Persists by asked me

4. Persists in asking me

5. No correction required



In the following sentence, four words, marked as (A), 

(B), (C), and (D), are given in bold, out of which one 

word may or may not be misspelt. Identify the 

misspelt word and mark it as your answer. If all the 

highlighted words are correctly spelt, mark ''All are 

correctly spelt'' as your answer.



Some small businesses were resiliant(A) following the 

recession(B); but unfortunately(C), many were defeated(D) 

in hard economic times and had to close shop.

1. A

2. B

3. C

4. D

5. All are correctly spelt



Even though my knee is aching(A), I will not sucumb(B) to 

the pain(C) and drop out of the race(D).

1. A

2. B

3. C

4. D

5. All are correctly spelt



A defficiency(A) in the number of funds(B) needed to keep 

the business(C) running forced the owner(D) to shut down.

1. A

2. B

3. C

4. D

5. All are correctly spelt



In the following sentence, some parts have error and 

some are correct. Find out which part has an error and 

mark it as your answer. If there is no error, mark ‘No 

error’ as your answer.



The movie, although embedded (A)/ in a pathetic 

screenplay (B)/ gives a few interesting (C)/ life lessons 

which needs to be emphasized.(D)

1. A

2. B

3. C

4. D

5. No error



Everyone needs to only recall (A)/ that it was in the nest 

(B)/ of the deeply oriental Theosophical society (C)/ that 

Bharatanatyam evolved to take her modern shape.(D)

1. A

2. B

3. C

4. D

5. No error



Champak had been (a)/ reading for quite some (b)/ time so 

I thought asking (c)/ him to go to sleep (D)

1. A

2. B

3. C

4. D

5. No error



He is talking to the /(A) manager about the /(B) losses as 

though nothing /(C) has happened. /(D) No error /(E)

1. A

2. B

3. C

4. D

5. No error



This laboratory of physics is (a)/ not only equipped with 

(b)/ all state of the art instruments (c)/ but also with 

outstanding physicists (d)/ No error (e).

1. A

2. B

3. C

4. D

5. No error



Below a word is given followed by three sentences 

which consist of that word. Identify the sentence/s which 

best expresses the meaning of the word. Choose option 5 

( None of these) if the word is not suitable in any of the 

sentences



COMPLEMENTS

A. The skirt complements the blouse perfectly.

B. The young boy paid complements to the beautiful girl.

C. The  extra-curricular activity complements the subject well.

1. Both A and B

2. Both A and C

3. All of the above

4. Only C

5. None of these



SUPERFLUOUS

A. Technology has advanced at superfluous speeds, and 

crimes have adapted to the changing times.

B. It was necessary to extract all the superfluous material 

from the coffin to carry out the research. 

C. He tried his best to improve the quality of the debate 

but instead made it superfluous.

1. Only A

2. Only B

3. Only C

4. Both B and C

5. None of these



MIRAGE 

A. The government's promise of well-built houses proved to be a 

mirage for the poor villagers.

B. The mirage made the statues appear to be dancing like ghosts.

C. Her struggle in the film industry broke the mirage of glamour 

she believed in. 

1. Only A

2. Only B

3. Only C

4. All of these

5. None of these.



COMPACT

A. Federal officials say switching to compact fluorescent 

bulbs could significantly reduce energy demands every year.

B. Persistence is the common trait of anyone who has had a 

significant compact on the world.

C. Cars are useful but their compact on the environment is 

another matter altogether.

1. Only A

2. Both A and B

3. Only B

4. Both A and C

5. Only C
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